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B. A. (Part I) EXAMINATION, 2020 

(New Course) 

ECONOMICS 

Paper Second 

(Indian Economy) 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 
vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 
Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- fiNM+h vFkZO;oLFkk ls vki D;k le>rs gSa \ fczfV’k le; esa Hkkjrh; 
vFkZO;oLFkk ds fiNM+s gksus ds dkj.kksa dks le>kb,A 

What do you mean by Backward Economy ? Give the causes 
of backwardness of Indian Economy during British period. 

vFkok 
(Or) 

fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ vkfFkZd fu;kstu 
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¼c½ fiNM+h vFkZO;oLFkk 

¼l½ uhfr vk;ksx 

Write short notes on any two of the following : 

(a) Economic planning 

(b) Backward Economy 

(c) NITI Aayog 

bdkbZ&2 

(UNIT—2) 

2- Hkkjr esa tula[;k dh leL;k dk fo’ys”k.k dhft, vkSj blds lek/kku 

ds fy, mfpr lq>ko nhft,A 

Analyse population problem in India and give suitable 

suggestions to solve it. 

vFkok 

(Or) 

Hkkjr esa vk; dh vlekurk ds dkj.kksa dh O;k[;k dhft, ,oa mlesa 

deh ykus okys mik;ksa dh ppkZ dhft,A 

Discuss the causes of inequalities in income of India and 

explain measures for reducing it. 

bdkbZ&3 

(UNIT—3) 

3- Hkkjrh; vFkZO;oLFkk esa df̀”k ds egRo dh O;k[;k dhft,A Hkkjrh; df̀”k 

ds fiNM+siu dks nwj djus ds fy, vki D;k lq>ko nsaxs \ 

Explain the importance of Agriculture in Indian Economy. 

What suggestions will you give to remove the backwardness 

of Indian Agriculture ? 
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vFkok 
(Or) 

fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ eqnzk ;kstuk 

¼c½ gfjr Økafr 
¼l½ {ks=h; xzkeh.k cSad 
Write short notes on any two of the following : 

(a) Mudra Yojana 

(b) Green Revolution 

(c) Regional Rural Bank 

bdkbZ&4 
(UNIT—4) 

4- Hkkjr ljdkj dh vkS|ksfxd uhfr] 1991 dh izeq[k fo’ks”krkvksa dh 
vkykspukRed leh{kk dhft,A 
Critically examine the main features of Industrial Policy, 
1991 of Government of India. 

vFkok 
(Or) 

Hkkjr esa y?kq ,oa dqVhj m|ksxksas dh leL;k dk fo’ys”k.k dhft, vkSj 
blds lek/kku ds fy, mfpr lq>ko nhft,A 
Analyse the Small Scale and Cottage Industries Problems in 
India and give the suitable suggestions to solve it. 

bdkbZ&5 
(UNIT—5) 

5- Hkkjr esa fons’kh O;kikj dh fn’kk esa gksus okys egRoiw.kZ ifjorZuksa dk 
fo’ys”k.k dhft,A 
Analyse the important changes in direction of foreign trade 
of India. 
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vFkok 

(Or) 

fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ ekSfnzd uhfr 

¼c½ jktdks”kh; uhfr 

¼l½ jk”Vªh; vk; 

Write short notes on any two of the following : 

(a) Monetary Policy 

(b) Fiscal Policies 

(c) National Income 
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